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Suppose an economy produce only two goods: educational credit and book. The price and quantity of
the two goods are listed in the following table. Compute the following measures.

Year Price of Quantity of Price of . Quantity of
educational credits
educational credits books books
2000 SiOQ 1500 570 120
2001 $125 1800 $80 150
2002 5150 2000 $100 160

a} Nominal GDP for 2000, 2001, and 2002,

Nominal GDP for 2000 =(¥100) (/500) + (¥70)((20) = $1584.00
Nominal GDP for 2001 = { $125 ) ((800) =t C£Q)(Cte0) = F237, ooo
Norminal GOP for 2002 = ¢ $160)( 2000+ ( Kteo)(160) =F 316, 000
b) Let the base year be 2000. Compute real GDP for 2000, 2001, and 2002,

Real GDP for 2000 = (400N ( I§00) + &GTo)(126) = fﬁ‘/f?,qf.oo
Real GDP for 2001 = (100> ((808) + (7o¢so)y = ¢ (Jo,c00
$21(,2z00

Real GDP for 2002 = ( £160) (go00) + (€700 (160) =

c) Economic growth rate for 2001 and 2002.

, _ Bl%0 500 ~$188,¢00 L, T - op. 3
Economic growth rate for 2001 = FIES, Goo % 2

. - — Fa) )
Economic growth rate for 2002 = $p2{{, 200 $19 Lo % (oo% = (0, ? %
$(30, Lo0
d} GDP deflator for 2000, 2001, and 2002,

58, &0l

. = |00
GDP deflator for 2000= 756, 65 xroo = |

GDP deflator for 2001 = %Lﬂ. oo = |24
{0, Lo

GDP deflator for 2002 = $316,000 w100 = 150
Fan, zov
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1. The table below uses data for the year 2000 provided by the Bureau of Labor Statistics and
adjusted to be comparable to U.S. data. All values are in thousands.

Country Adult Labor | Employed | Unemployed | Unemployment | Labor-Force
Population | Force rate (%o) Participation
Rate (%)

Germany 69,170 39,750 8.08
a. What is the labor-force participation rate for Germany?

La,g'm,—)cﬂ"'&

Barticipatim = Ko =57.57,

67,170
Rate

b. What is the number of unemployed for Germany?

[,{_?D = z:g 3({0679

Rearmmje . «‘rf’(/{ = ([/f %)(LF)/OO% = (8’0?Z>( 35’,7@)/0/0% = ‘;/?12

c. What is the number of employed for Germany?

#C = 39760 - 3212
= 34538

2. Suppose Andrew is offered a job in Douglas, where the CPI is 80, and a job in New York,
where the CPI is 125. Andrew’s job offer in Douglas is for $38,000. How much does the New
York job have to pay in order for the two salaries to represent about the same purchasing power?

128
30

« $38000 = $57378
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Classroom exercise (Chapter 6) Name

There are three problems that make the consumer price index an imperfect measure of the cost of
living. Which of the problems in the construction of the CPI might be illustrated by each of the
following situations?

a. New invention of smart phone.

Exc[uo{:‘nj new [Jroapuc)ff

b. After increase in the price of orange, consumers buy more tangerines instead of oranges.

Sulb sthibwhin, [).r\GiS

c. More functions were built in calculators but sold at the same price.

Unmea suresd cé,m{:'*é/ me)rm/e mewf-

d. As gasoline price falls, people travel more in the holidays.

Substdubinn  biag

The table below shows the prices and the quantities consumed in a hypothetical region
Tigerland. Suppose the survey year is 2001 and the base year is 2000.

Year Pitce of beef Quantity of beef Price of pork Quantity of pork
2000 $2.00 $1.00

2001 2.50 90 0.90 120

2002 2.75 1.00 ‘

B 3.1. What is the cost of the basket for Year 2000, 2001, and 20027

a. $300, $340, and $375.
b. $300, $333, and $367.5.
c. $300, $333 and $ 418.75.

d. None of the above. The correct answer should be

\fé‘ﬁr 2eed

(F2X(F0) + C#1)(120) = $300

eay 2oof @ ($>.$v)(‘;’a)+('c;)((L°>-‘ =$333

Meay 206L

B 3.2. What are the CPP’s For Year 2000, 2001 and 20022

a. 100, 113.3 and 140.
b. 100, 111 and 122.5.
c. 100, 140 and 153.

‘fenr 2o

d. None of the above. The correct answer should be

Year 2006 = {oo (bre itf % e
Yeay 200) "-'-'(,‘F;B?/‘i; 360 ) ro0) = LI/
03 ;b(f;s‘;.r/ﬁoo)(roo) = [22.§

B 3.3, What are the inflation rates for 2001 and 20022
Tor 200l, (111=10°) /10 X108 = 11D,

a. 0% and 11%

b. 11%and 10.4%
c. 40%. And 13.3% _ ;
d. None of the above. The correct answer should be

For 2002, (122.5-101)

($2.703(S0)+ € ) Cizo) = $367,£0

baseo eﬂr)

Xf6°7v :. [°~¢ ?o




